Klapptest — Termumformungen 8

Falte das Blatt entlang der Linie und berechne.
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2£+4-34-3d+dA-2£+d+2d

2c+f-c-3c+f-3c+3f+0

Ik-2k-2a+2k+3atk+2k-a =

3k+d2k-2dk2-2k-3d2k+k-d2k-3dk2 =

—4cd+4d3+2c2+302—d3—cd-4d3-4c2 =

—c+302e—4cze+3e—4e+2c+4cge+c2e =

-4031+5c-302+4021+50212-031-4c+302 =

-2h3+3hf-5h2f2+2h2f2+h2f2-h3-hf-4h2f2 =

-3e2j3-4ej-e2j2+ej4-3ej+e2j3+2ej-5e2j2 =

h2+4ah3+4a2h-5h-3a2h2+h2-2ah3+a2h =

© Maria Niehaves 2020

-4c+5f

6k

2k-3d2k-5dk2

=5cd-d +c
c+402e—e
-5031+c+4021+502i2

-3h3+2hf-6h2f2

-2e2j3-5ej-6e2j2+ej4

2h2+2ah3+5a2h-5h-3a2h2

Ergebnis:

—J20P.



